Multiplying a Binomial by Two Trinomials (A)
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Simplify each expression.

(=59 — 6)(5g* — 4¢” + 5¢°) (59" + 8¢* — 99)

(—22* — 62%)(62° — 22 + 2)(72® + 2% + 62)

(4n + 3)(=8n® — 3n* — 6n°)(—=9In® — Tn® —n)

~(h* = 7h*)(6h* 4 5h* — 5h)(6h* — 6h — 3)

C2r +7)(r? = 9r = 5)(=7r° + 9r* + 5r3)
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Multiplying a Binomial by Two Trinomials (A) Answers

)}

Ot

Simplify each expression.

- (=5g —6)(59" — 4¢° + 5¢°) (59" + 8¢” — 99) |
= —125¢° — 25097 + 140¢° — 68¢° — 2314 + 2704°

(22" — 62%)(62° — 22° + 2) (T2 + 2% + 62)
— — 8420 — 2362° — 342° — 22427 + 5425 — 362°

(4n + 3)(=8n’ — 3n* — 6n3)(—9nf)’ —Tn? —n)
— 288n” + 548n° + 581n" + 42915 + 159n° + 18n*

- (R* = 7h*)(6h* 4+ 5h* — 5h)(6h* — 6h — 3)
= 36h° — 258h° — 36h7 + 561h° — 90K> — 105h*

C2r +7)(r? = 9r = 5)(=7r° + 9t + 5r?)
— —14r% + 9577 4+ 42295 — 467r° — 680r* — 175r3
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